2. Reduction to the functions 4 and 4,

<u>Remarks</u>: (i) The sum $\sum_{p^{m} \leq x}$ is over those integers of the form $p^{m} \in \leq x$. (ii) [u] = greatest integer $\leq u$.

Prop 2.1 If
$$4(x) \sim x = \infty$$
, then $T(x) \sim \frac{x}{\log x} = \infty$

Pf omitted as it is completely a "real" analysis argument. (Reading Exercise)

Remark: Converse of Prop. Z. Prolds.

$$Def \quad \forall_i(x) = \int_1^x \forall (u) du$$

Prop 2.2 If
$$\frac{\chi^2}{2}$$
 as $\chi \to \infty$, then $\frac{\chi(\chi) - \chi}{2}$ and
therefore $\pi(\chi) - \frac{\chi}{\log \chi}$ as $\chi \to \infty$.

$$\frac{Prop 7.3}{4c > 1} \quad \forall c > 1$$

$$\frac{1}{2\pi i} \int_{c-i\infty}^{c+i\infty} \frac{x^{SH}}{s(s+i)} \left(-\frac{s(s)}{s(s)}\right) ds \quad (6)$$

(The integral is along the vertical line Re(S)=C.)

$$\underline{Pf}: \underline{Step}: -\frac{\underline{s}(\underline{s})}{\underline{s}(\underline{s})} = \sum_{n=1}^{\infty} \frac{\Lambda(\underline{n})}{\underline{n}^{\underline{s}}} \quad \text{Res}(\underline{s})$$

In Lemma 1.3, we have proved that

$$\log S(S) = \sum_{p,m} \frac{1}{m} p^{-ms}$$

$$\Rightarrow \frac{S(S)}{S(S)} = \sum_{p,m} \frac{1}{m} (-m \log p) p^{-ms} = -\sum_{n=1}^{\infty} \frac{\Lambda(n)}{n^s}$$

Step 2:

$$\frac{\text{Lemma 2.4}}{\frac{1}{2\pi i}} \quad \text{If } C>0, \text{ then}$$

$$\frac{1}{2\pi i} \int_{C-i\infty}^{C+i\infty} \frac{a^{S}}{S(1+S)} dS = \begin{cases} 0, & \text{if } 0
(7)$$

(The integral is along the vertical line $\operatorname{Re}(S) = C$.) Clearly the integral converges as $|a^{S}| = a^{C}$.

Case 1 a>1. Let $\beta = \log \alpha \ge 0$ and consider $f(s) = \frac{\alpha^{s}}{c(c+1)} = \frac{e^{s\beta}}{c(s+1)}$ which is meromorphic with simple poles at s=0 2 s=-1 with $\operatorname{res}_{s=0} f = 1$ and $\operatorname{res}_{s=-1} f = -\frac{1}{a}$ let r(T) = S(T) + C(T) be the contour as in the figure (T> C+1) -10 C



Then Residue Therem
$$\Rightarrow \frac{1}{2\pi i} \int_{\Gamma(T)} f(s) ds = 1 - \frac{1}{a}$$

Now if $S = \sigma + i \pm \epsilon C(T)$, then $|S(S+I)| \ge (T - c)(T - c - I)$

$$= \sum \left| \int_{C(T)} f(s) ds \right| = \left| \int_{C(T)} \frac{e^{\beta s}}{s(s+1)} ds \right| \le \int_{C(T)} \frac{|e^{\beta s}|}{|s(s+1)|} ds$$
$$(Resser, \beta \ge 0) \le \frac{e^{\beta c}}{(T-c)(T-c-1)} \cdot \pi T \longrightarrow 0 \text{ ad } T \Rightarrow \infty$$

$$\therefore 2\pi i (1-\frac{1}{\alpha}) = \int f(s) ds = \int f(s) ds + \int f(s) ds$$

$$T(T) \qquad S(T) \qquad C(T)$$

$$\rightarrow \int_{C-i\infty} f(s)ds$$
 as $T \rightarrow \infty$.

$$= \frac{1}{2\pi i} \int_{c-i\infty}^{c+i\infty} \frac{a^s}{s(sti)} ds = \left[-\frac{1}{a} \quad \text{for } a \neq \right].$$

$$\frac{Cave 2}{Similar to cave 1, we have}$$

$$\int_{Cit} f(s) ds = \int_{Cit} \frac{|a^{s}|}{|s(s+i)|} ds$$

$$= \int_{Cit} \frac{|e^{s \log \frac{1}{a}}|}{|s(s+i)|} ds \qquad (lig_{\frac{1}{a}} > 0)$$

$$(Res \ge c) \le e^{-c \log \frac{1}{a}} \cdot \frac{1}{(T+c)(T+c+i)} \cdot TT \rightarrow 0$$

and the same argument gives

$$0 = \int_{S(T)} f(s) ds + \int_{(CT)} f(s) ds$$

$$\longrightarrow \int_{c-i\infty}^{c+i\infty} \frac{as}{s(s+i)} ds \quad as \quad T > \infty$$

$$\frac{5 \tan \beta^{3}}{4} \qquad \underbrace{\Psi_{1}(x) = \sum_{n \leq x}^{\infty} \Lambda(n)(x-n)}_{n \leq n \leq u} \qquad \underbrace{f_{n}(u)}_{1} \qquad \underbrace{f_{n}(u)}_{0} \qquad \underbrace{f_{n}(u)}_$$

 $\frac{Final Step: Far C > 1}{\frac{1}{2\pi c} \int_{C-i\infty}^{C+i\infty} \frac{x^{S+1}}{S(S+1)} \left(-\frac{S(S)}{S(S)}\right) dS}$ $\left(\frac{by Step |}{PQS=C>1}\right) = \frac{1}{2\pi c} \int_{C-i\infty}^{C+i\infty} \frac{x^{S+1}}{S(S+1)} \left(\frac{a}{p-1} \frac{N(n)}{p^{S}}\right) dS$

$$= \chi \cdot \sum_{n=1}^{\infty} \Lambda(n) \cdot \frac{1}{2\pi i} \int_{c-i\infty}^{c+i(x)} \frac{\left(\frac{\chi}{n}\right)^{s}}{s(s+1)} ds$$